C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 160+4 = 2) 190:5=
1.
2.
3.
4.
3) 592+8 = 4) 511+7 =
5.
6.
7.
8.
5) 4205 = 6) 360+8=
9.
10.
7) 7659 = 8 675+9=
9) 224+4 = 10) 230+5=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 1604 = 2) 190+5= 40
30 10 30 8 L
4 120 40 5 150 40 2 38
a 74
a /3
3) 592+8 = 4) 511+7 =
70 4 70 3 > &
| e __45
8 560 32 ! 490 21
: : 7 85
N 75
5 420+5= 6) 360+8 = 56
80 4 40 5 %
5 400 20 0. 46
8 320 40
7) 7659 = 8 675+9=
80 5 70 5
9 720 45 9 630 45
9 224+4 = 10) 230+5=
50 6 40 6
4 200 24 5 200 30
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